sSurds

Q1. Write as a single power

a. V3 b. /5 cVK* d Vx* e 1/ x°

¢ 2 g vm’ h. 1/7 1/ 32 17322

Q2. Express the following surds in the form of avb

a V18 b V24 c V12 d V50
e \8 f 27 g V48 h V75
i V45 j V63 k V32 | V200

Q3. Simplify each of the following surds. Leave your answers in surd form.
a V2 x 3 b V5 x V3 cCV2xV2 d V2 x V8

e V5 x 8 f 3 x /3 g V6 x 2 h 7 x 3

Q4. Simplify each of the following. Leave your answers in surd form.

aV12 =3 b V15 + 3 c V12 +12 d V24 + 8
eV40+Vv8  fV3+43 g V6 + 2 h V21 ++3
i V28 + 7 j V48 + /8 k V6 + 6 | V54 = 6
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Q5. Simplify each of the following. Leave your answers in surd form.

a V2 x V3 x V2 b V5 x V3 x V15 C V2 x V2 x \/8
d V2 x V8 x V3 e V5 x V8 x /8 fV3 x V3 x /3
g V6 x V2 x V48 h \7 x V3 x V3 i V2 x 7 x \2
jV2 x V18 x V5 k V6 x V6 x /3 1 V5 x V6 x V30

Q6. Simplify each of these.

a 218 x 32 b 4124 x 25 c 3V12 x 33
d 2V8 x 28 | e 2V27 x 448 f 2148 x 318
g 2V45 x 33 | h 2463 x 27 i 2732 x 442
j V1000 % V10 k V250 x V10 | 2498 x 2+/2

Q7. Simplify each of these.

a 4\2 x 5v3 b 2V5 x 3V3 Cc 42 x 3V2
d 2V2 x 28 e 2V5 x 38 f 3V3 x 23
g 2V6 x 5V2 _ h 5V7 x 2V3 i 2V2 x 37
j 2V2 x 3718 k 276 x 26 | 445 x 36
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Q8. Simplify each of these.

a6V12 + 2v3 b 3vV15 + V3 ¢ 6V12 + 2 d 4424 + 248

e 12740 + 318 f 5V3 =3 g 1476 + 242 h 4v21 + 243
i 928 + 37 j 1256 + 68 k 25V6 + 56 | 32V54 + 46

Q9. Simplify each of these.

a4\2 x \3 + 242 b 4V5 x V3 + V15 Cc 2V32 x 3V2 + 28
d 6v2 x 2V8 + 3V8 e 3V5 x 48 + 218 f12V3 x 443 + 23
g 3V8 x 3V12 + 3V48 h 477 x 243 + 83 i 15V2 x 2V7 + 342
j8V2 x 2718 + 443 k 5V6 x 5V6 = 5V3 | 2V5 x 3V6 + V30

Q10. Find the value of a that makes each of these surds true.

a V5 xvVa =10 b V6 x Va =12 c V10 x 2Va = 20

d 2V6 x 3Va =72 e2VaxVa=6 f 3Wa x 3Va = 54
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Q11. Simplify the followings.

lEf =

Q12. Simplify the following surds.

a) V12 + \75 - 27

b) V162 + V128 - 450

c) V44 — V11 ++/99

d)\/ﬁ+@——\/@

e)x/4-8'—\/7_5+\/1—(—)§

N112 +4/175 ++/28

2)7/200 - /50 - /18

h)ﬁ—m/g—@

) V18 + V50 - V32

1

i) V75 + V125 - 4450
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Q13. Rationalize the denominators of the following Questions

-

V13

a)

) = = d)

Il
-

h)

Q14. Show that:
a(2+V3)(1+V3)=5+ 33
b(1+V2)2+V3)=2+2v2++3+16
c (4-3)4++3)=13

d. (V32 ++2)°=50

V12 +6 B
e — =2+ J3)
Q15. Expand and simplify where possible.
aVv3(2-+v3) b V2(3 - 4+2)
d 3V7(4 - 2V7) e 3V2(5 — 2V8)

= b)

2
V5

&
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c V5(2V5 + 4)

fV3(v27 - 1)



Expand and simplify where possible.
Q16. (1 +V3)(3—-+3) =

Q17. (2 +V5)(3=+5) =

Q18. (9 +V7)(9 +7) =

Q19. (1 -=V2)(3+2V2) =

Q20. (2 + V5)° =

Q21. (1 = V2)

Q22 (3 + V2)°

Q23.( V27+3)( V6 -V3)

I uE=af2 - fd=sf2

Example 2

Rationalize the following questions

Q.24 Q.25

5
3
Q.26 Q.27
N
9
Q.28 29
_ Ai-V2 >
Q.30 - Q.31
Jb-+c
Q.32 4 Q.33
0 |
\/§+ 2
Q.34 35
B2 .

B2 B2 (B -2y

V342
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x/§+3
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